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Note : This paper is of seventy (70) marks containing 

three (03) sections A, B and C. Learners are 

required to attempt the questions contained in these 

sections according to the detailed instructions given 

therein. 

uksV % ;g iz’u i= lŸkj ¼70½ vadksa dk gS tks rhu ¼03½ [k.Mksa 

^d*] ^[k* rFkk ^x* esa foHkkftr gSA f’k{kkfFkZ;ksa dks bu 

[k.Mksa esa fn, x, foLr`r funsZ’kksa ds vuqlkj gh iz’uksa ds 

mŸkj nsus gSaA  

Section–A / [k.M&d 

(Long Answer Type Questions) / ¼nh?kZ mŸkjh; iz’u½ 

Note : Section ‗A‘ contains four (04) long answer type 

questions of fifteen (15) marks each. Learners are 

required to answer two (02) questions only. 

uksV % [k.M ^d* esa pkj ¼04½ nh?kZ mŸkjh; iz’u fn;s x;s gSaA 

izR;sd iz’u ds fy, iUnzg ¼15½ vad fu/kkZfjr gSaA 

f’k{kkfFkZ;ksa dks buesa ls dsoy nks ¼02½ iz’uksa ds mŸkj nsus 

gSaA 
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1. What do you mean by ‗Poverty‘ ? ‗Planning of India 

not been able to solve the problem of Poverty.‘ 

Explain.  

^fu/kZurk* ls vki D;k le>rs gSa \ ^Hkkjr dk fu;kstu 

fu/kZurk dh leL;k dk lek/kku djus esa lQy ugha jgkA* 

O;k[;k dhft;sA  

2. Would you advocate inflation for higher growth ? 

Explain. What measures are being taken by 

government of India to control inflation ?    

D;k vki rhoz fodkl ds fy;s eqnzk LQhfr dk leFkZu djrs 

gSa \ o.kZu dhft;sA eqnzk LQhfr fu;U=.k ds fy;s Hkkjr 

ljdkj }kjk D;k mik; viuk;s x;s gSa \ 

3. What do you understand by commercial bills  ? Is there 

any difference between commercial bill and 

commercial paper ? How does commercial paper help 

industry and trade to raise resources ?  

dkWef’kZ;y ¼okf.kfT;d½ fcy ls vki D;k le>rs gSa \ D;k 

dkWef’kZ;y fcy rFkk dkWef’kZ;y isij eas dksbZ vUrj gS \ 

dkWef’kZ;y isij m|ksx rFkk O;kikj dks lk/ku c<+kus esa dSls 

lgk;rk djrk gS \ 

4. Define economic planning. Critically examine the 

achievements of last five decades of economic 

planning in India.  

vkfFkZd fu;kstu dks ifjHkkf”kr dhft;sA fiNys ik¡p n’kdksa eas 

Hkkjr ds vkfFkZd fu;kstu dh miyfC/k;ksa dk vkykspukREd 

ijh{k.k dhft;sA  
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Section–B / [k.M&[k 

(Short Answer Type Questions) / ¼y?kq mŸkjh; iz’u½ 

Note : Section ‗B‘ contains eight (08) short answer type 

questions of five (05) marks each. Learners are 

required to answer six (06) questions only. 

uksV % [k.M ^[k* esa vkB ¼08½ y?kq mŸkjh; iz’u fn;s x;s gaSA 

izR;sd iz’u ds fy, ik¡p ¼05½ vad fu/kkZfjr gSaA 

f’k{kkfFkZ;ksa dks buesa ls dsoy N% ¼06½ iz’uksa ds mŸkj nsus 

gSaA 

Briefly discuss any four of the following : 

fuEukafdr esa ls fdUgha pkj ij la{ksi eas ppkZ dhft;s % 

1. Discuss the components of business environment.  

O;kolkf;d i;kZoj.k ds rRoksa dk o.kZu dhft;sA  

2. Reasons for disequilibrium in the balance of payment. 

vlUrqfyr Hkqxrku ‘ks”k ds dkj.kA  

3. Recent reforms in the Monetary Policy of India.  

Hkkjr dh ekSfnzd uhfr esa gky esa fd;s x;s lq/kkjA  

4. Any five initiative of Indian government to attract 

Foreign Direct Investment.  

fons’kh izR;{k fuos’k dks vkdf”kZr djus ds fy;s Hkkjr ljdkj 

}kjk fd, x;s dksbZ ik¡p mik;A  

5. What are the causes of industrial sickness ?  

vkS|ksfxd #X.krk ds D;k dkj.k gSa \ 
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6. How privatization in India compares with other 

countries ? 

Hkkjr eas futhdj.k dh rqyuk vU; ns’kksa ds lkFk dSls dj 

ldrs gSa \ 

7. What are the differet types of exports houses and what 

are their eligibility ?  

fofHkUu rjg ds fu;kZr ?kj (export house) D;k gSa rFkk 

budh vgZrk D;k gaS \ 

8. How can negative effect of globalization on 

environment be minimized ?  

oS’ohdj.k ds i;kZoj.k ij udkjkRed izHkko dks dSls de 

fd;k tk ldrk gS \ 

Section–C / [k.M&x 

(Objective Type Questions) / ¼oLrqfu”B iz’u½ 

Note : Section ‗C‘ contains ten (10) objective type 

questions of one (01) mark each. All the questions 

of this section are compulsory. 

uksV % [k.M ^x* esa nl ¼10½ oLrqfu”B iz’u fn;s x;s gSaA izR;sd 

iz’u ds fy,  ,d ¼01½ vad fu/kkZfjr gSA bl [k.M ds 

lHkh iz’u vfuok;Z gSaA 

Choose the correct alternative : 

lgh fodYi pqfu, % 

1. Business environment is the study of :  

(a) Social Environment  

(b) Political Environment 

(c) Economic Environment 

(d) Legal Environment  
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O;kolkf;d i;kZoj.k fuEufyf[kr eas ls fdldk v/;;u gS \ 

¼v½ lkekftd i;kZoj.k 

¼c½ jktuhfrd i;kZoj.k 

¼l½ vkfFkZd i;kZoj.k 

¼n½ dkuwuh i;kZoj.k 

2. What instruments have been adopted by the Reserve 

Bank of India to control money supply ?  

(a) Cash-reserve ratio  

(b) Statutory-liquidity ratio 

(c) Selective credit control 

(d) All of the above  

ekSfnzd iwfrZ dks fu;af=r djus ds fy;s Hkkjrh; fjtoZ cSad 

fuEufyf[kr eas ls D;k midj.k bLrseky djrk gS \ 

¼v½ udn&fjtoZ vuqikr  

¼c½ oS/kkfud&rjyrk vuqikr 

¼l½ p;ukRed&lk[k fu;a=.k  

¼n½ mi;qZDr lHkh  

3. Treasury bills are issued by :  

(a) Government of India  

(b) State Governments  

(c) Commercial Banks   

(d) Reserve Bank of India  



 [ 6 ] BC–06 

A-48 

^Vªstjh fcy* jktdks”k pkyku fuEufyf[kr eas fdlds }kjk 

fuxZr fd;s tkrs gSa \ 

¼v½ Hkkjr ljdkj }kjk  

¼c½ izns’k ljdkj }kjk 

¼l½ dkWef’kZ;y okf.kfT;d cSadkas }kjk 

¼n½ Hkkjrh; fjtoZ cSad }kjk  

4. Which of the following is not an instrument of 

Monetary Policy ? 

(a) Deficit financing   

(b) Statutoary liquidity ratio   

(c) Cash reserve ratio 

(d) Open markets operations  

fuEukafdr esa ls dkSu lk midj.k ekSfnzd uhfr dk midj.k 

ugha gS \ 

¼v½ MsfQflV QkbusÇUlx@?kkVs dh foŸk O;oLFkk 

¼c½ oS/kkfud rjyrk vuqikr  

¼l½ udn fjtoZ vuqikr 

¼n½ [kqys cktkj dh fØ;k,¡ 

5. CII stands for :  

(a) Confederation of Indian Industries  

(b) Conditions of Indian Industries 

(c) Classes of Indian Industries 

(d) Civilians of Indian Industries 
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lh- vkbZ- vkbZ- lEcU/k j[krk gS % 

¼v½ Hkkjrh; m|ksx ifjla?k 

¼c½ Hkkjrh; m|ksx dh ifjfLFkfr;k¡ 

¼l½ Hkkjrh; m|ksx dk oxhZdj.k  

¼n½ Hkkjrh; m|ksx ds ukxfjd  

6. Industrial sickness means :  

(a) Wroking of industrial units in losses  

(b) Erosion of reserves and capital  

(c) Default in payment of dues to suppliers  

(d) Defalut in payment of wages  

vkS|ksfxd #X.krk dk fuEufyf[kr esa ls D;k vFkZ gS \ 

¼v½ vkS|ksfxd bdkb;ksa dk gkfu esa dk;Z djuk  

¼c½ lap; o iw¡th dk [kRe gksuk  

¼l½ nsunkjksa ds Hkqxrku u gksuk  

¼n½ etnwjh dk Hkqxrku u gksuk  

7. Fiscal policy relates to :  

(a) Raising financial resources  

(b) Price stabilization  

(c) Healthy operation of economic system  

(d) Promote savings  

jktdks”kh; uhfr fuEufyf[kr esa ls fdlls lEcfU/kr gS \ 

¼v½ foŸkh; lzksr c<+kuk 

¼c½ dher fLFkjrk  

¼l½ vkfFkZd ra= dk LoLFk :i ls dk;Z djuk  

¼n½ cpr dks c<+kuk 
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8. The Import and Export (Control) Act was passed in :   

(a) 1947 (b) 1951 

(c) 1971 (d) 1966 

vk;kr vkSj fu;kZr ¼fu;a=.k½ ,DV fuEufyf[kr esa ls fdl 

o”kZ ikl gqvk Fkk \ 

¼v½ 1947 ¼c½ 1951 

¼l½ 1971 ¼n½ 1966 

9. Foreign trade policy is formulated : 

(a) Yearly  (b) Three yearly  

(c) Five yearly  (d) Six monthly 

fons’k O;kikj uhfr cukbZ tkrh gS % 

¼v½ okf”kZd ¼c½ rhu o”kks± eas  

¼l½ ik¡p o”kks± eas ¼n½ N% ekg eas  

10. The biggest country to receive FDI is :  

(a) Brazil  (b) Mexico  

(c) India (d) China  

lokZf/kd izR;{k fons’kh fuos’k izkIr djus okyk ns’k 

fuEufyf[kr esa ls dkSu&lk gS \ 

¼v½ czkthy ¼c½ esfDldks 

¼l½ Hkkjr  ¼n½ phu  
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